[PACKET 4.1: WRITING RATIOS AND PROPORTIONS] [ES

Practice 4.1

SOLVING PROPORTIONS. Solve the proportion.
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WRITING AND SOLVING PROPORTIONS. Write the sentence as a proportion. Then, solve the proportion
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SO PORTIONS. Solve the proportion. '
% A3 %’ Z“‘r
.i_i-S CE_ g% .30 _25 .,
vty 0.9 0.+ == v d /—%3'

- w2 (34 =V 30 = |

h=!®


timothy.kelly
Typewritten Text

timothy.kelly
Typewritten Text
xxxxxx

timothy.kelly
Typewritten Text
xxxxxxxxxx

timothy.kelly
Typewritten Text

timothy.kelly
Typewritten Text
12 = n

timothy.kelly
Typewritten Text

timothy.kelly
Typewritten Text

timothy.kelly
Typewritten Text

timothy.kelly
Typewritten Text

timothy.kelly
Typewritten Text

timothy.kelly
Typewritten Text
xxxxxxxxxxx

timothy.kelly
Typewritten Text

timothy.kelly
Typewritten Text

timothy.kelly
Typewritten Text

timothy.kelly
Typewritten Text
xxxxxxxxxx

timothy.kelly
Typewritten Text

timothy.kelly
Typewritten Text

timothy.kelly
Typewritten Text
xxxxxxxxxxxxx

timothy.kelly
Typewritten Text
xxxxxxxxxxxxx

timothy.kelly
Typewritten Text

timothy.kelly
Typewritten Text

timothy.kelly
Typewritten Text


44 Review Skillz

1. Solve: 2. Simplify:
r
—-8/—- 3x ¥ -20 —Br—2(3=—2)
4 + 8
L — | ~5x~bx +Y
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t- \X+Y
Z')( =y l
4. Solve: 5. Simplify:
—-18 4+ 2x =-20 —8— 3x = —20
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3. Describe how to move from Point
A to Point B:
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i L units in the_Sj direction

_"é_ units in the X direction
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